
BLUEPRINT OF BIOLOGY 

CLASS-XI 

1 Total number of Questions should be 35 

2 Question book.let is to be divided into two sections, A and B. 

3 Section 'A' is Botany containing 17 questions & Section 'B' is 

Zoology containing 18 questions 

4 Each question caiTies 2 marks. 

5 All the questions are compulsary 

6 The question should be of multiple choice questions 
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BOT ANY (SECTION-A) 

SL. 
UNIT TOPIC 

No. Of % TOTAL 

NO Question WEIGHT AGE MARKS 

DIVERSITY rN THE PLANT KINGDOM 2 11.8 02 X 2 = 04 

LIVING WORLD 

II MORPHOLOGY or FLOWERING 
2 11.8 

STRUCTURAL PLANTS 

2 ORGANISATION 04 X 2 = 08 
IN PLANTS AND 

ANIMALS ANATOMY OF FLOWERING PLANTS 2 l 1.8

Ill 
CELL: THE UNIT OF LIFE 1 5.9 

STRUCTURE 02 X 2 = 04 
AND FUNCTION 

CELL CYCLE Ai"ffi CELL OIVISIO"J I 5.9 

TRANSPORT IN PLANTS 2 11.8 

MINERAL NUT
R

ITION l 5.9

IV 
PHOTOSYNTHESIS IN HIGHER 

4 PLANT 2 l l.8 09 X 2 = )8 
PHYSIOLOGY 

PLANTS 

RESPIRATION lN PLANTS 2 11.8 

PLANT GROWTH AND 
2 11.8 

DEVELOPMENT 

TOTAL- 17 100 34 
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ZOOLOGY (SECTION-B) 

SL. 
UNIT TOPIC 

No.Of % TOTAL 

NO Question WEIGHTAGE MARKS 

I 
THE LIVING WORLD I 5.6 

DIVERSITY IN THE 
04 X 02 

I BIOLOGICAL CLASSIFICATION 1 5.6 
=08 LIVING WORLD 

ANIMAL KINGDOM 2 11 

II 

STRUCTURAL 
STRUCTURAL ORGANISATION rN 01 xo 2 

2 ORGANISA flON 
ANIMALS 

1 5.6 
= 02 TN PLANTS AND 

ANIMALS 

m 
CELL : THE UNIT OF LIFE 1 5.6 

04 X 02 
3 STRUCTURE AND BIOMOLECULES 2 11 

= 08 FUNCTION 
CELL CYCLE AND CELL DIVISION 1 5.6 

DIGESTION AND ABSORPTION 2 11 

BREATHING AND EXCHANGE OF 
1 5.6 

GASES 

BODY FLUIDS AND CIRCULATION 2 11 

IV EXCRETORY PRODUCTS AND 09 X 02 
4 HUMAN rHEIR ELIMNA TION 

1 5.6 

PHYSIOLOGY =18 

LOCOMOTION AND MOVEMENT 1 5.6 

NEURAL CONTROL AND COORDINATION 1 5.6 

CHEMICAL COORDINATION AND 
1 5.6 

INTEGRATION 

TOTAL- 18 100 36 
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F.M.- 70

CLASS-XI 

SUBJECT-BIOLOGY(� Fcl$111) 

SET-II 

Pass Marks- 22 

Time.­

GENERAL INSTRUCTIONS 

The Question booklet consists of 35 multiple choice questions carrying 2 marks each 

in two sections, 'A' containing 17 questions and 'B' containing 18 questions. All the 

questions are compulsary. 

Q. 

�o 

SECTION -A (BOTANY)(�-31) (q1�� �) 

1 The tissues present at the root tip and shoot tip is 

(A) Parenchyma

(B) Sclerenchyma

(C) Co1Ienchyma

(D) Meristematic

1iR � zct � � l)-crrm \ilR � � t: -

(q>) ��ct>l�+il 

(�) '{4)6'�ct>l�+il 

(1f) ct>lclct>l�+il 

(�) �.flte�fect> 

2 
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Q. 2

�o 

Q. 3

�o 

Q. 4

�o 

Movement of H2O through cell wall is -

(A) Apoplast

(B) Symplast

(C) Tonoplast

(D) None of these

<f>l�1¢1 � � � U1C'f <ITT � 4>5clldl t

(cv) �4llcl ltc.

(�) ff! +i lcl I tc.

(1T) c.111 lcl I tc.

(ti)����

........... are also called as amphibians of the plant 

kingdom. 

(A) Pteridophytes

(B) Gymnosperms

(C) Angiosperms

(D) Bryophytes

� \Jflm � 311-i?.liH 4>5cllc1 � I

tcp) e.fl�1q,1�c:1 
(�) '111 im tG 4

(1T) �'1f!�)tG4
(ti) � l�lQ>l�c.l

C4 cycle is also known as :­

(A) Calvin cycle

(B) Kreb's cycle

(C) Hatch stack cycle

(D) Cell cycle

C4 T.fw-- ---� ';fTlJ � 1fr "GTRT \jf@l t­

(cp) c6 cl fcl 1 T.fw 

(�) � � 

(1T) � � � T.fw 

(ti) ¢1�1¢1 'qw

2 

2 

2 

2 
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Q. 5

�o 

Q. 6

�o 

The final product formed during anaerobic respiration 
2 

in human muscle cell is :-

(A) Ethyl alcohol

(B) Lactic acid

(C) PG A

(D) PG AL

lff1q � cf>l�lct>l311 lf 31q1l1cftll mR &RT ffi qJffi �

'3{GIG t : -

(cp) �� 31('(f)� 6 c'1

(�) �fcl:cct> � 
(lT) PG A 

(-q) PG AL 

Stilt roots are found in :-

(A) Sugarcane

(B) Carrot

(C) Sunflower

(D) Mustard

3Tcffif+f � qrq vITTf ! : -

(cf>) 1fnf lf

(�) lJTGR lf

(lT) �4�{4l lf 

(-q) mm lf 

2 
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Q. 7 Karyokinesis means 2 
(A) Division of cytoplasm

(B) Division of cell wall

(C) Division of nucleus

(D) Division of Chromosomes

�o c6�cf> �1"11 <f>T � t : -

(cp) cf>'1� 1¢1 � cpl � 

(�) cf>l�lcf>I � cpl � 

(1T) c6�cf> cpl �1'111 
(ti) 101'(j� cpl � 

Q. Which among the following is not a plant hormone 2 

(A) Auxin 

(B) Gibberllin

(C) Insulin

(D)A BA

�o Pi�R!Rsla if � ffi � � i51x1f11 t -
(cp) 311cttft1 
(�) \J1� iiN ('!� 1 
(1T) �-ijcl'l1 
(ti) AB A 

Q. 9 The green colour of the plant is due to 2 
(A) Carotenoids

(B) Chlorophyll

( C) Xanthophy ll 

(D) Fucoxanthin

"Q'Q tJKCTT cpl � � Pi��ftla � � Fcb�c6 cf>RUT � t-

(cp) �xle'H1�\S 
(�) ctc-nx)fch� 

(lT) �� 

(ci) � cbl � .:eft;f ff ffJ 
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Q. 10 Hydroponics is :- 2 

(A) Water

(B) Solution containing a11 the nutrients

(C) Green house

(D) Liquid

�o 
\ --� t i51�*jqj ct> : -

(cp) �
(�) wfr lITfrcp cfM � mc-J

(lT) mffl lf6

(tr) �

Q. 1 1 The reproductive unit of the Angiosperms is 2 

(A) Leaf

(B) Root

(C) Apex

(D) Flower

�o 3ll1a�fGi�l -q �Gt11 ctft � t I

(cp) � 

(xY) � 

(lT) �l(?AH.I 

(tr)� 

Q. 12 Kreb's cycle is also known as :- 2 

(A) TC A cycle

(B) BC A cycle

(C) AB A cycle

(D) PG A cycle

�o �'qw � .:rJlf � � � '11@1 t I

(cf>) TC A cycle 

(�) B C A cycle 

(1T) AB A cycle 

(ti) PG A cycle 
-
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Q. 13 RuBP stands for:- 2 

(A) Ribose bi phosphate

(B) Ribulose bi phosphate

(C) Ribose bis phosphate

(D) Ribulose 6 phosphate

110 RuBP !-

(cp) Ribose bi phosphate

(�) Ribulose bi phosphate

(1f) Ribose bis phosphate

(u") Ribulose 6 phosphate

Q. 14 The algal component of lichens is known as :- 2 

(A) Phycobiont

(B) Mycobiont

(C) Diplontic

(D) Haplontic

110 cll�ch.:, � �i:11<11� � � -
(q;) lf>l�cf)l�lmc 
(�) ill�¢lt.11�1c 
(lf) �lcl1Pect>

(er) ��,Pe ct>

Q. 15 Guard cells help in :- 2 

(A) Protection against grazing

(B) Transpiration

(C) Guttation

(D) fighting against infection

110 IDx ¢l�lcf>I � � � :-
(q;) "i.ITT11f � ffqlq 1l

(�) cl I tq) cti uf 1 1l
(lf) ��tllcl 1l

Pf (fJ (er) t1·wJio1 � � � 11
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Q. 16

110 

Q. 17

Companion cell is associaed with 

(A) sieve tube

(B) Tracheid

( C) Sclerenchyma

(D) Vessel

� cf>l�lchlq � oo Weft t : -

("q>) i.llcl1l �

(�)� 
(lf) -&>C'l�chl�&il 

("Er) cll�chl

Phytochrome is responsible for 

(A) Seed germination

(B) Flowering

(C) Both (a) and (b)

(D) None of these

q,1�c1w1&1 \i\'F<c::1�1 � :­

(cn) m � 

(�) � �&111 

(lf) (a)� (b) GT-TT 
("Er)���� 

2 

2 
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Q. 1

�o 

Q. 2

�o 

SECTION -B (ZOOLOGY) (�-if) ("GRJ fcrnA) 

'Lub' & 'dub' are the sounds of: 

(A) Kidney

(B) Lungs

(C) Liver

(D) Heart
'('fij' � ·�· � t :

("cl>)� cp'r

("�) i lfQ)" 'ti cp'r 

(1T) � � 

(tl) � � 

Types of blood group in human: 

(A) A,B, AB, 0

(B) A,B,C,D

(C) A, AB, BA, 0

(D) All the above

lWfq 1l xcffi � � � t

(q;) A,B, AB, 0

(�) A,B,C,D

(lf) A, AB, BA, 0

(t.T) All the above

2 

2 
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Q. 3 Terminalisation occurs in : 2 

(A) Leptotene

(B) Zygotene

(C) Diplotene

(D) Diakinesis

�o x3q1Pti1M1 "ITTm t

(cf>) (9tc1lt1 �
{�) Gtl�4ne'H �

(lf) ��ll1 �

(tl) '5l�¢1�P!Ri� �

Q. 4 Respiration results in: 2 

(A) Release of 02

(B) Anabolism

(C) Transfer of CO2

(D) Release of CO2

�o � cITT qR011i:i t 2 

(q)) 02 <PT f:'t<t>cl.=t I 

(�) q 1 I �1 f& \iii 

(lf) CO2 cf)T �11iaxu1

(tl) CO2 q51 Pl¢C'111

Q. 5 DCT stande for 2 

(A) Distal convulating Tubule

(B) Direct convulating Tubule

( C) Distal common tubule

(D) Direct common tubule

�o DCT t:

(q)) �feC'I � ���C'I 
(�) \Sl��cfe � ���C'I 
(lf) �feC'I Q)llR ���C'I 

ff@ ("ET) '5 I ll � cfc Q)llR � ��C'I 
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Q. 6 Virus is: 2 

(A) Cellutar

(B) Ace11ular

(C) Multicellular

(D) Unicellular

>fO �!:

(q>) 4>hlcG!� 
(�) 314>hlc6'1� 
(rr) i4§,cf>l�lc61� 
(ci) � q,)�1c6)�

Q. 7 Which one of the fo1lowing is multinucleated : 2 

(A) Non- striated muscle

(B) Striated muscle

(C) Nervous tissue

(D) Renal tissue

>fO � � ffi E4§,c6�cf>�� t

(ct>") 31��"1� 

(�)� 
(rr) ci�q51 q;)�1q51 
(ci) � cf>1�14>1

Q. 8 Which is also known as 'Power house of the cell' 2 

(A) Mitochondria

(B) Chloroplast

(C) Nucleus

(D) Ribosome

>fO � � cJ>R ¢1�14>1 cpT �l�tPp.: 4>5tillctl �: 
(q>) •-11�c)q51��1 
(�) cttil)-<) l<'I IR. 

(rr) c6�ct>

(ci) '<l��ffl'i

https://byjus.com/?utm_source=pdf%20click
https://byjus.com/?utm_source=pdf%20click


Q. 9 'Red Data book' deals with 2 

(A) Endemic plants

(B) Extinct plants

(C) Endangered species

(D) Epidemic plants

�o ·� � ¥>' -q ffl � t :

(en)��

("�)�rfiu
(1f) �'<Hll � !,Ntl fa

("Ef) 1151111� tfit)-

Q. 10 Thyroxine is secreted from 2 

(A) Pituitany

(B) Thyroid

(C) Adrenal

(D) Gonads

�o �l�xlfcl-81 -a,Rla "ITTffi �

(en) �<�c.�
(�) �l�xl�-s 

(1f) �-sR1e1 

("Ef) � 3171" 

Q. I 1 Open type of circulatory system is present in 2 

(A) Hydra

(B) Cockroach

(C) Birds

(D) Starfish

�o � �-i:NOI (f5J -cnm � t :

(cf>)� -q

(�) f?ttiltj<e �
(1f) "Cfclt -q 

("Ef) di-< I Ji £9 C'fl if 
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Q. 12

VO 

Q. 13

VO 

Q. 14

VO 

Elbow joint is an example of: 

(A) Pivot joint

(B) Hinge joint

(C) Gliding joint

(D) Ball & socket joint

� cpl � f¢tlcf>I \JGl5-<01 t :

(q;) 4l�qc � 

(�) � � 
(TT) 4(11��•1 � 

(cl) � � "fflc6c �

The largest part of the human brain: 

(A) Cerebellum

(B) Medulla oblongata

(C) Olfactory lobe

(D) Cerebrum

llFfq 'ifffitif> <ITT � � '+{TlT 

(q;) \9��(1Ji 

( )� V \-� 311ci4('11•11cl

(TT) �('1�cfc� � 

(cl)�

Water vascular system is a chanacteristic of: 

(A) Porifera

(B) Ctenophora

( C) Echinodermata

(D) Chordata

� t1q51 QU11611 �kif&�a if � fchticf>I 1JUf t :-

(q;) 41��'<1 

(�) e)114>1-<I 

('ff) �cf>l�1l\SJikl 

(cl) cf>l'�\Slcl

2 

2 

2 

ff@ 
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Q. 15 pH of saliva is : 2 
(A) 6.8

(B) 8

(C) 7.4

(D) 9.5

�o ffix cp1 pH t:

(cf>) 6.8 
(xsr) 8 

(1T) 7 .4 
(-q) 9.5 

Q. 16 The simplest form of fat is : 2 
(A) Glucose

(B) Amino acid

(C) Fatty acid

(D) Nucleic acid

�o cfffi cp1 fl It.I l-<01 � !

(cf>) 4 �4>1 "1

(xsr) � � 
(1T) �� 
(-q) �ct,�

Q. 17 DNA differs from RNA in having : 2 
(A) Adenine

(B) Thy amine

( C) Cytosine

(D) Guanine

�o DNA,RNA � Fcbt1 cfi ITT-t � cf>RUT � t :

(cp) q�111 
(xsr) �1�1-t11 
(1T) fll�c.lfft1 (Yj@ (-q) j3TAR :::::.---=> 
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Q. 18

�o 

Digestion of protein is completed in 

(A) Stomach

(B) Small intestine

( C) Langeintestine

(D) Liver

� cITT -qfiFJ mm- t

(q;) �'11�1� 

(�) "9ltr 3T@ 

(ll) � 3TTc1

(-q) �

2 
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Answer key 

Class- XI 

Biology (SET-II) 

Section (A) Section (B) 
(Botany) (Zoology) 

1 D 1 D 
2 A 2 A 
3 D 3 D 
4 C 4 D 

5 B 5 -A

6 A 6 A 
7 C 7 A 
8 C 8 A 

9 B 9 C. 

10 B 10 C 

11 D 11 B 

12 A 12 B 

13 B 13 J) 

14 A 14 C 

15 B 15 A 
16 A 16 C 

17 C 17 B 

18 B 
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